

# BIDI™ STICK PRODUCT OVERVIEW



# **BIDISTICK PRODUCT FEATURES**











MORE THAN **50 CIGARETTES** PER STICK



### **EXPLORE FLAVORS**





WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

# **BIDI STICK PRODUCT OVERVIEW**



### MADE WITH YOUR HEALTH IN MIND

Bidi Stick is made, packaged, and marketed with its consumers' health as the highest priority, from the components that we use up to its marketing stage. Bidi Stick is exclusively distributed by a trusted and authorized distributor, Kaival Brands Innovations Group, Inc.



### TRACEABILITY & INNOVATIVE TECHNOLOGY

Bidi Stick has an excellent traceability capability with its properly labeled batch numbers, expiration dates, manufacturing toll gates and data systems to make sure that each Bidi Stick is made with only top-quality components for a clean and consistent user experience.



#### SAVE YOUR BIDI. SAVE OUR PLANET.

Bidi Stick is a game-changer in the vaping industry by creating an environmentally friendly program that urges its users to recycle used Bidi Sticks and receive one FREE Bidi Stick in return. This unique initiative makes Bidi Stick rise above all other vaping brands by leading the charge to protect our environment from the harmful effects of residual nicotine and toxic waste of batteries.

### **EXPLORE FLAVORS**





WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com



Bidi Stick stands out in the vaping industry because Bidi Stick not only promoting smoking cessation through seamless transition, we also care for the environment by protecting it from improper disposal of nicotine and batteries from electronic cigarettes that cause adverse effects to our environment.

Bidi Stick is the forerunner of environmental sensitivity efforts of proper waste disposal of electronic cigarettes across the globe. Bidi Stick promotes this by empowering our consumers to send their used Bidi Sticks back to us, and they are rewarded by receiving a new Bidi Stick for helping to save the environment.

Bidi Stick has a battery that costs 2.8x more than competing brands as we strive to provide the most clean and consistent products to our consumers. Advanced and high-grade, this ROHS, CE, and FCC-Certified battery is required for efficient recycling and the most minimal environmental impact.

Bidi Stick is empowering people's mindsets against the improper waste disposal of disposable electronic cigarettes. We are diligently working to save the Earth from this negative environmental impact and provide a path towards sustainability. Save the Planet, one Bidi Stick at a time!

"Saving the Environment, Saving Lives"



WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

# **CLASSIC TOBACCO**

### TOBACCO LEAF



# Puff the soothing freshness of mint in your mouth!



1 - 15	\$6.00
16 - 63	\$5.75
64	<b>\$5.50</b>

#### **Outer Case:**

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

### Taste the classic tobacco in every puff!



#### **Outer Case:**

60 Display Boxes x (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



MINT + MENTHOL







### **BERRY BLAST**

STRAWBERRY + BLUEBERRY





### A blast of rich berry flavors!



#### **Outer Case:**

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



### **LUSHICE**

### Rich and fresh coolness of ice!



OUTER CASES		PRICE
1 - 15		\$6.00
16 - 63		\$5.75
64		\$5.50

#### **Outer Case:**

60 Display Boxes x (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

### WATERMOLON + MELON + MENTHOL







# **KICK START**

**BLUEBERRY + POMEGRANATE** 



# Electrifying rich flavor experience!



**Outer Case:** 

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



# Tropical feast of flavors in your mouth!



<b>OUTER CASES</b>	S	PRICE	
1 - 15		\$6.00	
16 - 63		\$5.75	
64		\$5.50	

#### **Outer Case:**

60 Display Boxes x (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

# **JUNGLE JUICE**

MELON + PINEAPPLE + BANANA







# **FRUITY MANGO**

### FRESH MANGO



### Sweet tropical taste in puff!



### **Outer Case:**

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



# Tropical mango with an icy freshness twist!



OUTER CASES		PRICE
1 - 15		\$6.00
16 - 63		\$5.75
64		\$5.50

#### **Outer Case:**

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

# **ICY MANGO**

MANGO + MENTHOL



# **DRAGON VENOM**

### DRAGON FRUIT + STRAWBERRY



### For the strong flavorful taste!



#### **Outer Case:**

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



# Satisfying richness and flavor in every puff!



<b>OUTER CASES</b>	3	PRICE
1 - 15		\$6.00
16 - 63		\$5.75
64		\$5.50

#### **Outer Case:**

60 Display Boxesx (10 Bidi Stick Each) = 600 Bidi Sticks

- 6% (60mg) Nicotine Strength
- 1.4 mL
- 280 mAh



WWW.KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-2434

bidisales@kaivalbrands.com

# **BLAZING VIBE**

MANGO + APPLE + ORANGE





# SAVE YOUR BIDI. SAVE OUR PLANET.

### CONTACT US

WWW. KAIVALBRANDS.COM 833-367-2434 (833-FOR-BIDI)

Fax: 833-367-24-34

bidisales@kaivalbrands.com

Rik Gandhi: +61 423 126 243/

rik@bidivapor.co.nz

Hem Patel: +61 430 280 775/

hem@bidivapor.com

